
http://www.adobe.com/support/techdocs/316508.html


A A

A A

2 x 8 - 72"  TWO BOARDS

2 x 6 - 96"  ONE BOARD

2 x 4 - 96"  SIX BOARDS

C E E

2 x 2 - 96"  6 BOARDS
D D CC

D D CC

D D CC

D D CC

D

D

I

I

F

F

F

F

G G G G

HH HH

1 x 4 - 72"  ONE BOARD1 x 4 - 72"  ONE BOARD

BB BB

ARBOR CUTTING DIAGRAM Lumber: (Canopy & Side panels)
A   (4)  Arches             1 " x 7 " x 36"
B   (2)  Stretchers " x 3 " x 26"
C   (1)   Ridge                1 " x 5 " x 31"
D   (14) Slats               1 " x 1 " x 29 "
E   (2)   Plates             1 " x 5 " x 29 "
F   (4)   Legs                1 " x 3 " x 72"
G  (4)   Side Rails        1 " x 3 " x 23"
H  (2)   Rail Backer       1 " x 3 " x 23"
I    (4)   Retainer Stp.   1 " x 1 " x 59"
J   (2)  Lattice Panels " x 20 " x 59 "

(Not Shown)

!/2 !/4
#/4 !/2
!/2 !/2
!/2 !/2 !/2
!/2 !/2 !/2
!/2 !/2
!/2 !/2
!/2 !/2
!/2 !/2
%/8 &/8 &/8

Lumber: (Canopy & Side panels)
A   (4)  Arches             1 " x 7 " x 36"
B   (2)  Stretchers " x 3 " x 26"
C   (1)   Ridge                1 " x 5 " x 31"
D   (14) Slats               1 " x 1 " x 29 "
E   (2)   Plates             1 " x 5 " x 29 "
F   (4)   Legs                1 " x 3 " x 72"
G  (4)   Side Rails        1 " x 3 " x 23"
H  (2)   Rail Backer       1 " x 3 " x 23"
I    (4)   Retainer Stp.   1 " x 1 " x 59"
J   (2)  Lattice Panels " x 20 " x 59 "

(Not Shown)

!/2 !/4
#/4 !/2
!/2 !/2
!/2 !/2 !/2
!/2 !/2 !/2
!/2 !/2
!/2 !/2
!/2 !/2
!/2 !/2
%/8 &/8 &/8

Hardware:
(32)  #8 x 2" Fh exterior woodscrews
(40)  #8 x 2 " Fh exterior woodscrews
(16)   #8 x 3 " Fh exterior woodscrews
(24)   4" Timberlock screws or " x 4" lagscrews

#/4
!/2

!/4

Hardware:
(32)  #8 x 2" Fh exterior woodscrews
(40)  #8 x 2 " Fh exterior woodscrews
(16)   #8 x 3 " Fh exterior woodscrews
(24)   4" Timberlock screws or " x 4" lagscrews

#/4
!/2

!/4



2 x 6 - 72"  TWO BOARDS 2 x 6 - 48"  ONE BOARD

2 x 4 - 72"  TWO BOARDS

2 x 4 - 72"  TWO BOARDS

2 x 4 - 120"  TWO BOARDS

1 x 4 - 72"  SIX BOARDS

1 x 4 - 96"  THREE BOARDS

BENCH CUTTING DIAGRAM WING CUTTING DIAGRAM (PAIR)

FENCE CUTTING DIAGRAM (SINGLE SECTION)

M

O

L P

K K

N

N

N

N

N

Q

Q

Q

Q

Q

Q Q Q

T T

R

R

1 x 4 - 96"  TWO BOARDS

2 x 4 - 96"  TWO BOARDS

S U

S U

V V V

V V V

X W

X W

Y Y Y

Y Y Y

Y Y Y

Lumber: (Bench)
K   (2)   Ends             1 " x 3 " x 21 "
L    (1)    Front Rail     1 " x 3 " x 47 "
M   (1)   Back Rail       1 " x 5 " x 50 "
N   (5)   Seat Planks " x 3 " x 50 "
O    (1)    Back Rest    1 " x 5 " x 50 "
P    (1)    Seat Brace  1 " x 3 " x 16"
Q   (8)   Back Slats " x 3 " x 11 "

!/2 !/2 !/2
!/2 !/2 !/2
!/2 !/2 !/2

#/4 !/2 !/2
!/2 !/2 !/2

!/2 !/2
#/4 !/2 !/4

Lumber: (Bench)
K   (2)   Ends             1 " x 3 " x 21 "
L    (1)    Front Rail     1 " x 3 " x 47 "
M   (1)   Back Rail       1 " x 5 " x 50 "
N   (5)   Seat Planks " x 3 " x 50 "
O    (1)    Back Rest    1 " x 5 " x 50 "
P    (1)    Seat Brace  1 " x 3 " x 16"
Q   (8)   Back Slats " x 3 " x 11 "

!/2 !/2 !/2
!/2 !/2 !/2
!/2 !/2 !/2

#/4 !/2 !/2
!/2 !/2 !/2

!/2 !/2
#/4 !/2 !/4

Hardware:
(29)#8 x 2" Fh exterior woodscrews
(4) #8 x 2 " Fh exterior woodscrews
(20)#8 x 3 " Fh exterior woodscrews
(16)4d galv. box nails (w/heads clipped)

#/4
!/2

Hardware:
(29)#8 x 2" Fh exterior woodscrews
(4) #8 x 2 " Fh exterior woodscrews
(20)#8 x 3 " Fh exterior woodscrews
(16)4d galv. box nails (w/heads clipped)

#/4
!/2

Lumber: (for Two Wings)
R   (2)   Inner Stile     1 " x 3 " x 63 "
S   (2)   Outer Stile    1 " x 3 " x 61 "
T    (2)    Top Rail         1 " x 5 " x 20 "
U   (2)     Bottom Rail  1 " x 3 " x 20 "
V   (6)     Slats " x 3 " x 26 "

Hardware: (for Two  Wings)
(32)#8 x 3 " Fh exterior woodscrews
(24) 4d galv. box nails (heads clipped)

!/2 !/2 !/2
!/2 !/2 !/2
!/2 !/2 !/2
!/2 !/2 !/2

#/4 !/2 !/4

!/2

Lumber: (for Two Wings)
R   (2)   Inner Stile     1 " x 3 " x 63 "
S   (2)   Outer Stile    1 " x 3 " x 61 "
T    (2)    Top Rail         1 " x 5 " x 20 "
U   (2)     Bottom Rail  1 " x 3 " x 20 "
V   (6)     Slats " x 3 " x 26 "

Hardware: (for Two  Wings)
(32)#8 x 3 " Fh exterior woodscrews
(24) 4d galv. box nails (heads clipped)

!/2 !/2 !/2
!/2 !/2 !/2
!/2 !/2 !/2
!/2 !/2 !/2

#/4 !/2 !/4

!/2

Lumber: (for two fence panels)
W   (2)   Stiles   1 " x 3 " x 61 "
X    (2)    Rails    1 " x 3 " x 56 "
Y    (9)   Slats " x 3 " x 26 "

!/2 !/2 !/2
!/2 !/2 !/2
#/4 !/2 !/2

Lumber: (for two fence panels)
W   (2)   Stiles   1 " x 3 " x 61 "
X    (2)    Rails    1 " x 3 " x 56 "
Y    (9)   Slats " x 3 " x 26 "

!/2 !/2 !/2
!/2 !/2 !/2
#/4 !/2 !/2

Hardware: (for two fence panels)
(16)#8 x 3 " Fh exterior woodscrews
(36)4d galv. box nails (heads clipped)

!/2
Hardware: (for two fence panels)
(16)#8 x 3 " Fh exterior woodscrews
(36)4d galv. box nails (heads clipped)

!/2



2 x 6 - 48"  ONE BOARD

1 x 4 - 96"  TWO BOARDS

2 x 4 - 48"  ONE BOARD

GATE CUTTING DIAGRAM (PAIR)

BB BB

2 x 2 - 96"  TWO BOARDS
Z Z

AA AA

CC CC

DD DD DD

DD DD DD

Lumber: (for two gates)
Z     (2)    Outer Stiles     1 " x 1 " x 37 "
AA  (2)     Inner Stiles      1 " x 1 " x 35 "
BB  (2)     Top Rail             1 " x 5 " x 20 "
CC   (2)     Bottom Rail     1 " x 3 " x 20 "
DD  (6)     Gate Slats " x 3 " x 26 "

Hardware:
(4)  3" zinc-coated butt hinges w/screws
(1)   4" bar-type gate latch w/screws
(1) " x 12" zinc-coated cane bolt w/ screws
(16)#8 x 3 " Fh exterior woodscrews
(12) 4d galvanized box nails (clip the heads)
(1)  4"-6" length of " I.D. copper or PVC pipe

!/2 !/2 #/4
!/2 !/2 #/4
!/2 !/2 !/2
!/2 !/2 !/2
#/4 !/2 !/4

!/2
!/2

#/4




